| 251 ——B%K

L
N MOXEYF
«|a ]
L
27V 12— EyF L L4 ¢D A’ LFRAT LFHAZ
S11 M2.6x0.45 6.70 4.50 4.50 60° MNLT X T8
S14 M2.6X0.45 6.50 4.50 4.50 60° ML X T8
S16 #5(.125") 12.20 9.00 5.60 60° ML X T10
S16S #5(.125") 9.70 5.50 5.50 60° ML X T10
S21 M4.0x0.7 10.50 7.50 6.20 60° LT X T15
S22 #8(.164") 14.80 10.50 7.40 60° ML X T20
S22S #8(.164") 12.30 6.80 7.70 60° ML X T20
S27 M5.0%X0.8 22.00 16.20 8.30 60° LT X T25
S30 M5.0%X0.8 15.00 9.10 8.30 60° ML X T25
SCRB103 M3.0X0.5 9.10 3.50 6.00 100° MLIZXTZZ | IP10
SR 10400150 M5.0%X0.8 8.30 4.00 5.00 - A 25
SR 10400270-25.5 M6.0%X1.0 25.50 — 5.80 — ML X T15
SR 10402265 M5.0%X0.8 12.10 7.60 6.95 60° A 4.0
SR 10402266 M8.0%x1.25 18.00 12.80 10.64 60° A 4.0
SR 10402267 M6.0%X1.0 26.50 12.50 10.00 — A 4.0
SR 10402352 M10.0%x1.0 27.00 16.40 10.00 120° Vay:: 4.0
SR 10502813-HG-M M2.6X0.5 8.20 4.60 3.30 60° NVIRTZZ | IP7
SR 10502813-HGSM M2.6X0.5 7.00 3.70 3.30 60° NVIRTSZ | IP7
SR 105034577 M2.5X0.45 5.20 3.10 3.25 60° ML X T6
SR 10503579 M6.0X0.75 13.30 4.90 8.45 155° ML X T20
SR 10503833 M2.5x0.45 4.60 2.70 3.25 60° ML X T7
SR 10503833-S M2.5X0.45 3.80 1.75 3.25 60° ML X T7
SR 10504970 M3.5%X0.6 8.10 4.35 5.20 55° MLIZXTZZ | IP15
SR 10505427 M5.0%x0.8 12.00 7.60 6.65 60° MLIZZTZZ | IP20
SR 10506100 M2.5X0.45 5.90 3.70 3.40 60° ML X T6
SR 10507547 M6.0%X1.0 22.50 18.60 6.00 60° MLIZXTZZ | IP25
SR 10508082-HG M3.0%X0.5 6.80 3.80 4.00 60° ML X T8
SR 10508600 M3.0X0.5 8.10 4.65 4.30 60° ML X T9
SR 1051666 M8.0%X1.25 20.80 8.80 10.40 - ML X T25
SR 1052964 M8.0%x1.25 15.90 6.25 10.40 154° ML X T25
SR 105739 M6.0%X 1.0 13.30 5.80 8.40 155° ML X T20
SR 105923 M8.0%x1.25 15.70 5.00 10.40 154° ML X T25
SR 114-018 L2.50 M2.5%X0.45 2.50 0.90 3.60 56° ML X T6
SR 114-018 L3.40 M2.5x0.45 3.40 1.60 3.60 56° LT X T6
SR 114-018 L4.40 M2.5%X0.45 4.40 2.40 3.60 56° ML X T6
SR 114-018 L5.30 M2.5%X0.45 5.30 3.10 3.60 56° ML X T6
SR 117-2009 M5.0%x0.8 12.10 6.30 2.60 - A 2.0
SR 117-2010 M8.0%X1.25 20.55 6.40 6.10 120° A 3.0
SR 117-2011 M6.0%X 1.0 13.20 7.50 6.00 120° A 25
SR 117-2014 M6.0X 1.0 16.70 7.05 6.00 120° A 25
SR 117-2016 M6.0X1.0 12.20 5.65 6.00 120° NA 2.0
SR 11800745 M4.0x0.7 12.50 8.20 7.00 70° MLIZXTZZ | IP15
SR 11800782 M5.0%x0.8 11.30 8.00 - - ML X T15
SR 118-069 1/4 13.30 - - — MLIZXTZZ | IP20
SR 14-0180 M5.0%X0.8 10.30 6.20 6.82 50° ML X T20

*¥&Hy 2—ICHEEMT LI HNETOT, LOFOREREEH Yy 2—X=—T&ZSBT I,
LoFHMIEL9OBEZSHBT AW,




